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INTRODUCTION TO VHDL
Experiment 9 (Sequence generator) Report

1. If the design is realized as a state machine, what would be the advantages and disadvantages against your design (sequence generator)?
2. How would you use an input that puts your generator into wait state? This input would cause to hold and continue running the sequence with two button presses, for example.
3. Can you manage to insert an integer input that causes to jump the state defined by the integer? How?
Note : Follow the "turn-in" procedure explained in Experiment-2 report template.. 

